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Warm Up: 
Which value of r represents data with a strong negative 
linear correlation between two variables?
(a) -1.07 (b) -0.89 (c) -0.14 (d) 0.92
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A pediatrician has the following table that lists the head c ircumferences for a group 
of 12 baby girls from the same extended family.  The circumference is given in 
centimeters.

Find the logarithmic regression equation for this model.

If this pattern continues, what would be the circumference size for a 2 year old?

During which month, would the circumference measure 43.6?

Age 
(in months) 2 2 5 4 1 17 11 14 7 11 10 19

Circumference 36.8 37.2 38.6 38.2 35.9 40.4 39.7 39.9 39.2 41.1 39.3 40.5
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Find a polynomial function of degree 3 in 
standard form which has the corresponding table 
values.

x y
4 18
3 0
2 -4
1 0
0 6
-1 8
-2 0
-3 -24
-4 -70
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Regents Practice!!!
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Now let's throw in some ...

AVERAGE RATE OF CHANGE

The table below gives the temperature, in ºF, 
for the first week in September.
September 
Date 1 2 3 4 5 6 7

Temperature 8 14 4 ­1 8 27 28

Determine the average rate of change of the temperature from September 2 to September 5.
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The following set of data shows US gas prices in recent years.

Based on the table, what was the average rate of change in 
the price of gasoline from 2005 to 2014, to the nearest 
thousandth?  Use appropriate units for your answer.

What is the exponential regression for the data in the table, 
rounding coefficients to the nearest thousandth.  [Use x=1 for 
the year 2005]

Based upon your regression equation, what is the average rate of change in the price of 
gasoline from 2005 to 2014, to the nearest thousandth?  Use appropriate units for your 
answer.

Why is there a difference between your answers using the table and using the regression 
equation?

Year Price ($)
2005 1.78
2006 2.24
2007 2.33
2008 3.11
2009 1.68
2010 2.67
2011 3.07
2012 3.29
2013 3.29
2014 3.33
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